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Note : Attempt questions from each section as directed.

SECTION - A
Answer any two questions from this section : 20x2=40

1. Why is arithmetic mean choosen frequently as a
measure of central tendency ? Under what
circumstances would it be appropriate to use
mode and median ? Show the relationship
between mean, median and mode.

2. (a) State the addition theorem of Probability.
Discuss the change in the results of the
theorem when events are

(i) mutually exclusive and

(i) not mutually exclusive.
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(b)

(b)

What do you mean by standard error of
mean ? Prove that

o

N where

oxX =

ox = Standard error of mean

standard deviation of population

o

n = sample size.

What do you mean by efficient estimator ?
How would you differentiate it from a
consistent estimator ?

Can you minimize both type I and type II

errors simultaneously ? Give reasons in

support of your answer.

4.  Whatis the basic difference between t-distribution
and f-distribution ? Discuss how t-test can be
applied for testing the significance of the difference
between two sample means.

EEC-03



SECTION-B
Answer any four questions from this section. 4x12=48

o

Seasonal indices of a commodity manufactured
by a company for four quarters of a year are given
to be 100, 90, 80 and 130. If the total sale in the
first quarter is worth Rs. 25,000 how much worth
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of sale is expected during the whole year ?

o

An enquiry into the budgets of middle class
families in a village was conducted.

Expenses on food, rent, clothing education and
miscellaneous items constituted respectively 30%,
25%, 15%, 10% and 20% of the total. The prices in
rupees of two years on these items are as follows : °
200712008
Food 1800|2000
Rent 1000(1200
Clothing | 700 | 900
Education| 400 | 500
Misc 700 |1000

Construct the cost of living index using the above

information and comment on the change in the
cost of living in 2008 as compared to 2007.

7. A manufacturer of watches has learnt from
experience that 3% of the watches he produces
are defective. If a random sample of 300 watches
is examined, what is the probability that the
proportion of defective watches is between 0.02
and 0.035 ?
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8.  Estimate the regression of Y on X from the data
given below :

X|16(12|18| 4 | 3 {10} 5 |12

Y|87|88|89|68|78|80|75|83

9.  The following data give the profits earned by 1000
companies :

Profits | No.of | Profit | No. of
(Rs.000) |companies | (Rs.000) [companies
100-120 17 180-200 327
120-140 53 200-220 208

140-160 199 220-240 2
160-180 194

Calculate the coefficient of skewness and

comment on its value.

10. A coin is tossed 100 times under identical
conditions independently yielding 30 heads and
70 tails. Test at one percent level of significance,
whether the coin is unbiased.
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SECTION-C
Answer all the questions from this section. 2x6=12
11. Write short notes on any two of the following :
(a) Rank correlation coefficient
(b) Poisson distribution
() Sampling with replacement

12. Differentiate between any two :
(a) Parameter and statistic
(b) One tailed and two tailed tests

() Coefficient of variation and variance.
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ox = e & AW AR
o = GHE %1 9w fauea
n = 9fEe MEHER
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EEC-03 8



-G
T 9 @ fRell ur Tl % SR e 4x12=48
5. 94 % uR T  few st gry frftfa asg & dhedt
gEhie 100, 90, 80 3k 180 few 7w §1 afk wed
TR H o Tt 25,000 TIC 7 B A AR 9 F
A fra TUC 9% W ST w1 SR oI o
T €2

6. Tl it % wem ol & oRarl & a9 F s
™1 weH, fe, we, fren ok fafay W& WA
T W, A B 30%, 25%, 15%, 10% IR
20% T foha T 1 37 W R ) At F e (i )
TWYFRE :

oo 20072008
@ 9 |1800]2000
feprn 1000{1200
I 700 | 900
e 400 | 500
fafay 700 |1000

S g % A A Fate e gawis SR SR
3R 2007 H go F 2008 A Firaiis - o A A A
e T feoqot wifa.
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10.
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foreht ot - fomfan ¥ o1 STgwa ¥ i § T sw
g it wfeal =1 3% Augel ®1 afk 300 =fedl &
g wiaeyl &1 wira St Skt & A wfaehar @ et
fop Srqul feall 1 o1 0.02 3R 0.035 F &= 872

9 feu 7T NSl A X WY & AHIFAT Hl Ao
HIfT :

X|16
Y|87

12
88

1814 (3
89168178

10| 5
80175

12
83

frrfafiaa slies 1000 a1l grr stfsia o 1 <ed
g

(.000) | =1 @& | (¥.000) | &t F&0
100-120] 17 [180-200| 327
120-140| 53 |200-220] 208
140-160| 199 [220-240| 2
160-180| 194

9= - T F IREREE BT @R FF TH W
foupof Sifswy

T faeF *I 100 IR THA WS & FAqid IDwEA
ST & T 30 IR 39 (heads) 31R 70 IR IS (tails)

A T 1% Wdhal WX W 9T sifse f Fan
firerent STRFC © o1 7161 ?
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WRT-T7
39 A & 9t Il & S e 2x6=12
11. Frfafes ¥ 9 fadl  w déy § < fafau
(a) e eiay TUiE
(b) TN e
(c) ufceurys afea gfaem

12, e & ¥ R & ¥ ok 9 T T
(a) Y=l TE wfaeeis
(b) T TS W g T wem
(c) fo=Ror s iR yRm
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